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SESIMA
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Sl JIEAYY wo (e:@Rl)
2AH-EZ8-AA(SAH) - NRAY - HES Oif &ko JIEH Hns2

SSAMAEL 4,883,124 3,543,091 1,340,083

= 771,807 560,543 211,264

p] 134,757 134,757 0

= 50,000 0 50,000

= 3,926,560 2,847,791 1,078,769

IS U SUSAM(SEHY /5 - 58 3,114,713 1,774,680 1,340,033

= 771,807 560, 543 211,264

p 134,757 134,757 0

= 50,000 0 50,000

= 2,158,149 1,079,380 1,078,769

IIEFYY wo 1,740,930 1,196,227 544,703

= 752,107 540,843 211,264

= 50,000 0 50,000

= 938,823 655, 384 283,439

IR LAl ClYgEE Y NV(2D) 978,730 624,027 354,703

= 512,107 320,843 191,264

< 466,623 303, 184 163,439

101 Q1244 121,100 21,100 0

2 35,000 42,000 A7,000

= 86,100 79,100 7,000

YPIEEESEEES 121,100 121,100 0

CHEEES 121,100 121,100 0

oI 105,000 105,000 0

2 35,000 42,000 A7,000

= 70,000 63,000 7,000

206 T 2 bl 797,630 442,927 354,703

= 447,107 248,843 198,264

g 350,523 194,084 156,439

01 TH2HI 797,630 442,927 354,703

ouzEEY A 797,630 442,927 354,703

= 447,107 248,843 198, 264

£ 350,523 194,084 156,439

goiRie o AW AARH S NR(2D) 480,000 440,000 40,000

= 240,000 220,000 20,000

= 240,000 220,000 20,000

401 Al HIL S THYI 100,000 0 100,000

2 50,000 0 50,000

= 50,000 0 50,000

01 Al&HI 100,000 0 100,000

ONEFHAMNY 24X 100,000 0 100,000

2 50,000 0 50,000

= 50,000 0 50,000

405 XHaH3 S| 380,000 440,000 60,000

2 190,000 220,000 30,000

= 190,000 220,000 30,000

01 AL S EHSH| 380,000 440,000 60,000
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SN SSIAMAEA
FH: JIEYY 2 SMSAMNSEHSR /Y - 5E)

SR JIEdgY 29 (&< & @
SN - FH . G(30) - NBEAY - BAS 0l &k o8 plE-L" HimE==T

ogaxtz ¢ 0 60,000 260,000

= 0 30,000 230,000

= 0 30,000 A30,000

QIS ZY &Y 206,400 76,400 130,000

g 50,000 0 50,000

=S 156,400 76,400 80,000

206 M= Hl 81,000 31,000 50,000

£ 50,000 0 50,000

o3 31,000 31,000 0

01 MHZ 81,000 31,000 50,000

OAl ¥ FH<SY XtEt & 50,000 0 50,000

£ 50,000 0 50,000

401 Al EHIZL S CHYI 80,000 0 80,000

01 Al&HI 80,000 0 80,000

OXtE ASAE &% 80,000 0 80,000

HUXNCHEH SAES 20,000 0 20,000

201 eI 20,000 0 20,000

01 At &2lHl 20,000 0 20,000

OFLXNCEH RXE+ 20,000 0 20,000

MOl JAME B3 449,144 377,814 71,330

= 19,700 19,700 0

7 134,757 134,757 0

T 294,687 223,357 71,330

42 ot d HA 38,830 30,000 8,830

201 Er2EH| 8,830 0 8,830

01 At 22| bl 8,830 0 8,830

O FZ A& WEH| 8,830 0 8,830

F4E IIEBE BA 93,700 58,200 35,500

206 M= Hl 93,700 58,200 35,500

01 =4I 93,700 58,200 35,500

OFAE JISE HAt 59,700 36,700 23,000

O=s+SuE FEIAM 10,000 6,500 3,500

OFEECIAE ZAM 24,000 15,000 9,000

FUNUE ZU2AEH S RAES 27,000 0 27,000

201 LEr2 A 27,000 0 27,000

01 At 22lHl 12,000 0 12,000

OS&&c ¥ HAZHAEH RAES 12,000 0 12,000

02 E22gHl 15,000 0 15,000

OERXNA FARTIAMEH R+ 15,000 0 15,000

AN ZE2e 924,639 200,639 724,000

- 338 -




2A:

SSALANE L

FH: 52 2 SASAMN(sBHSrN/ s - 58)

e AL FE e (etel: &
2AH - Z3H-G2(3) - NFRAY - BES Ofl &4 JNEA Husz
BA2E € FAEF27 236,639 36,639 200,000

201 et2gH| 236,639 36,639 200,000
01 At 22|l 200,000 0 200,000
OXx @=L X 200,000 0 200,000

A AEEF=ZA 542,000 18,000 524,000
401 AlEHIL 2 0HYI 542,000 18,000 524,000
01 AIZHI 542,000 18,000 524,000
OFA EHE+=Z Al 524,000 0 524,000
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2N SBAMSEIL
I OlEY @ BA4S AMN(STHSLM/5 - =&

SRR R (sl @2
2AH-ZH-92(5]0) - NIFEMNS - BES Oi &k JNEAH HpsZ
SEEIEL PP 803,200 803,200 0

= 20,000 24,000 £4,000

= 783,200 779,200 4,000

IIEYY U BUE AA(SYHSLN/S5Y - 5E) 144,611 144,611 0
2 20,000 24,000 £4,000

= 124,611 120,611 4,000

ol RIE 104,851 104,851 0
2 20,000 24,000 £4,000

= 84,851 80,851 4,000

PR LAl OB 2Y XV (2D) 69,200 69,200 0
2 20,000 24,000 24,000

= 49,200 45,200 4,000

101 Q1 214)] 69,200 69,200 0

2 20,000 24,000 £4,000

= 49,200 45,200 4,000

P EENETES 69,200 69,200 0
CHELEL] 69,200 69,200 0
ool 60,000 60,000 0

2 20,000 24,000 £4,000

= 40,000 36,000 4,000
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SN SSIMLHDXA
o OlEYe 2 SM4S AA(SEHYLN/5Y - 55

Sl JEHYY Yo (e @9

SA - BB G(E) - HEAY - BAS Ol & 04 plE=1" HlmE2

SEMLETL - 1,064,250 1,064,250 0

2 25,000 30,000 5,000

p] 18,000 18,000 0

= 1,021,250 1,016,250 5,000

IHEYY L BUE AA(SYHSSN/5Y - 55) 279,419 279,419 0

2 25,000 30,000 £5,000

p] 18,000 18,000 0

= 236,419 231,419 5,000

IIEEYY Yo 121,399 121,399 0

2 25,000 30,000 25,000

= 96,399 91,399 5,000

PHE LAl HYAE 7Y NV(2D) 86,500 86,500 0

2 25,000 30,000 A5,000

= 61,500 56,500 5,000

101 Q1218 86,500 86,500 0

2 25,000 30,000 £5,000

= 61,500 56,500 5,000

BIELEE RS 86,500 86,500 0

CEEES 86,500 86,500 0

OLIEL 75,000 75,000 0

= 25,000 30,000 25,000

= 50,000 45,000 5,000
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SA-HH .G (3) - HEAY - BAS 01l &k plE-1 BB
SSYMEST A 764,813 764,813 0
2 20,000 24,000 24,000
= 744,813 740,813 4,000
IEYH U BANB AAHER)(SLHYLA/ S5 - 5= 144,611 144,611 0
)
= 20,000 24,000 24,000
= 124,611 120,611 4,000
IIETAY Yol 102,676 102,676 0
2 20,000 24,000 24,000
= 82,676 78,676 4,000
IHS LA HESE DY XY(2D) 69,200 69,200 0
2 20,000 24,000 24,000
< 49,200 45,200 4,000
101 Q124 H| 69,200 69,200 0
=2 20,000 24,000 24,000
= 49,200 45,200 4,000
04 JIZHM2EREE S 69,200 69,200 0
ogdEER 69,200 69,200 0
Oel | 60,000 60,000 0
= 20,000 24,000 24,000
= 40,000 36,000 4,000
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SN SRAMEEXA
HH: JlEYe U BHB BA(SHHSSM/=Y - 58

ool JIEEYY Yo CLEED

SA - BB E9(3) - NSAR - HAS 0l ko pIE=X" HmE2

=L IET DIPS 731,323 731,323 0

2 25,000 30,000 A5,000

= 706,323 701,323 5,000

IIEYS L BUE A (STHYLL/5Y - 58) 159,911 159,911 0

2 25,000 30,000 5,000

= 134,911 129,911 5,000

tEEYY Y 114,800 114,800 0

2 25,000 30,000 5,000

< 89,800 84,800 5,000

IR LAl YAE P XA (2D) 86,500 86,500 0

2 25,000 30,000 5,000

g 61,500 56,500 5,000

101 Q1214 86,500 86,500 0

2 25,000 30,000 25,000

= 61,500 56,500 5,000

04 IIZHZZRSES 86,500 86,500 0

CHEEES 86,500 86,500 0

o121l 75,000 75,000 0

2 25,000 30,000 5,000

= 50,000 45,000 5,000
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